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1. Refer to the above diagram. Points A, B, C, D, and E show:

	[image: image2.wmf]A.
	that the opportunity cost of bicycles increases, while that of computers is constant.


	[image: image3.wmf]B.
	combinations of bicycles and computers which society can produce by using its resources efficiently.


	[image: image4.wmf]C.
	that the opportunity cost of computers increases, while that of bicycles is constant.


	[image: image5.wmf]D.
	that society's demand for computers is greater than its demand for bicycles.


2. Refer to the above diagram. This production possibilities curve is:

	[image: image6.wmf]A.
	convex to the origin because opportunity costs are constant.


	[image: image7.wmf]B.
	linear because opportunity costs are constant.


	[image: image8.wmf]C.
	concave to the origin because of increasing opportunity costs.


	[image: image9.wmf]D.
	convex to the origin because of increasing opportunity costs.


3. Refer to the above diagram. The combination of computers and bicycles shown by point G is:

	[image: image10.wmf]A.
	attainable, but too costly.


	[image: image11.wmf]B.
	unattainable, given currently available resources and technology.


	[image: image12.wmf]C.
	attainable, but involves unemployment.


	[image: image13.wmf]D.
	irrelevant because it is inconsistent with consumer preferences.
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4. Refer to the above diagram. If society is currently producing the combination of bicycles and computers shown by point D, the production of 2 more units of bicycles:

	[image: image15.wmf]A.
	cannot be realized because resources are fully employed.


	[image: image16.wmf]B.
	will cost 1 unit of computers.


	[image: image17.wmf]C.
	will cost 2 units of computers.


	[image: image18.wmf]D.
	will cause some resources to become unemployed.


5. Refer to the above diagram. The combination of computers and bicycles shown by point F:

	[image: image19.wmf]A.
	is unattainable, given currently available resources and technology.


	[image: image20.wmf]B.
	is attainable, but entails economic inefficiency.


	[image: image21.wmf]C.
	is irrelevant because it is inconsistent with consumer preferences.


	[image: image22.wmf]D.
	suggests that opportunity costs are constant.


6. Refer to the above diagram. The movement down the production possibilities curve from point A to point E suggests that the production of:

	[image: image23.wmf]A.
	computers, but not bicycles, is subject to increasing opportunity costs.


	[image: image24.wmf]B.
	bicycles, but not computers, is subject to increasing opportunity costs.


	[image: image25.wmf]C.
	both bicycles and computers is subject to constant opportunity costs.


	[image: image26.wmf]D.
	both bicycles and computers is subject to increasing opportunity costs.


	7.
	The law of increasing opportunity costs exists because:

[image: image27.wmf]A.
resources are not equally efficient in producing various goods.

[image: image28.wmf]B.
the value of the dollar has diminished historically because of persistent inflation.

[image: image29.wmf]C.
wage rates invariably rise as the economy approaches full employment.

[image: image30.wmf]D.
consumers tend to value any good more highly when they have little of it.




	8.
	The production possibilities curve illustrates the basic principle that:

[image: image31.wmf]A.
the production of more of any one good will in time require smaller and smaller sacrifices of other goods.

[image: image32.wmf]B.
an economy will automatically seek that level of output at which all of its resources are employed.

[image: image33.wmf]C.
if all the resources of an economy are in use, more of one good can be produced only if less of another good is produced.

[image: image34.wmf]D.
an economy's capacity to produce increases in proportion to its population size.




	9.
	Unemployment and/or productive inefficiencies:

[image: image35.wmf]A.
cause the production possibilities curve to shift outward.

[image: image36.wmf]B.
can exist at any point on a production possibilities curve.

[image: image37.wmf]C.
can both be illustrated by a point outside the production possibilities curve.

[image: image38.wmf]D.
can both be illustrated by a point inside the production possibilities curve.
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10. Refer to the above diagram. An improvement in technology will:

	[image: image40.wmf]A.
	shift the production possibilities curve from PP1 to PP2.


	[image: image41.wmf]B.
	shift the production possibilities curve from PP2 to PP1.


	[image: image42.wmf]C.
	move the economy from A to C along PP1.


	[image: image43.wmf]D.
	move the economy from A, B, or C on PP1 to D.


	11.
	Through specialization and international trade a nation:

[image: image44.wmf]A.
can attain some combination of goods lying outside its production possibilities curve.

[image: image45.wmf]B.
can move from a high consumption-low investment to a high investment-low consumption point on its production possibilities curve.

[image: image46.wmf]C.
will attain some combination of goods lying within its production possibilities curve.

[image: image47.wmf]D.
will cause its production possibilities curve to shift leftward.




	12.
	Some agricultural sub-Saharan nations of Africa have overfarmed and overgrazed their land to the extent that significant portions of it have turned into desert. This suggests that:

[image: image48.wmf]A.
the concavity of the production possibilities curves of such nations has increased.

[image: image49.wmf]B.
the production possibilities curves of such nations have shifted inward.

[image: image50.wmf]C.
the production possibilities curves of such nations have shifted outward.

[image: image51.wmf]D.
these nations are operating at some point outside of their production possibilities curves.




	13.
	If all discrimination in the United States were eliminated, the economy would:

[image: image52.wmf]A.
have a less concave production possibilities curve.

[image: image53.wmf]B.
produce at some point closer to its production possibilities curve.

[image: image54.wmf]C.
be able to produce at some point outside of its production possibilities curve.

[image: image55.wmf]D.
produce more consumer goods and fewer investment goods.




REVIEW: Benefit-Cost Analysis: "the economic perspective"
1. definition 

the selection of ALL possible alternatives where the marginal benefits are greater than the marginal cost 

select all where: MB > MC
up to where: MB = MC
but never where: MB < MC
2. marginal benefits and marginal costs
3. Marginal Benefit = Marginal Cost Rule
select all where: MB > MC
up to where: MB = MC
but never where: MB < MC 

What happens if the MB change?
An increase in MB will encourage the activity 

A decrease in MB will discourage the activity
What happens if MC change?
An increase in MC wil discourage the activity 

A decrease in MC will encourage the activity
4. ignore fixed or sunk costs
· any cost that does not change as a result of the decision 
5. examples
a. Should I go to class today? 

· What are the MB?
· What are the MC?
· Ignore fixed costs = tuition
b. Should I wear a Ski Helmet ?
c. Should I drive fast?
· seat belts
· http://www.esuvee.com
d. Should I wear a helmet while skiing?
· helmets.htm 

5. GRAPHICALLY [mcmb.jpg]

· as you do more of something what happens to the additional costs (MC)? 

· law of increasing costs
· opportunity costs and marginal utility
· as you do more of something what happens to the additional benefits (MB)? 

· diminishing marginal utility
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